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— =Z 0t & AtH] A A 90,000 +20E %201 &t D] + SHAt 40,900,000 &
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—2 %012 2,000,0002 2,000,000 &
—5/2/H| 900,0002+CHHHI 2,000,000 +XH 2H| 90C 3,800,000 &
® BLS 2 =9l
— X 2| 50,0002 %1431+CH YL AlH| 13,0002 * 3,920,000 &
@BLS ol
—S#XH B 35,0002 %205 +CH | 1,00020%10% 1,600,000 &
® 212HAY| Ayl
—AlH| S4AHIR 6,500 50 *22A1%25]+ 2 BHA 48,815,000 &

DI2FZH| 2AlH|

— S22l (50%+2,0002+72*25])+U BHAY| (50 13,550,000 &
® QU2+ DY
—S2FUl (40Z+11,0002%23])+L B A Y| (502 + 7 11,800,000 &
® 212 AY| XY 2% *1281+50,0002 1,200,000 2
® QIRHAH| HADE
—S 221l 800,0008!*20H*13+ L B HI 300,000 3,700,000 &
® oI e EE
— S22l (30,0002 %13])+2 B HI (30,0008 373 1,140,000 &
® QI2HAH 22
—S 21| (500,00084%15)+2BHAH| (150,00024%5 1,250,000 2
® 212 Pl 2258 L H0lA 2,0008+3,0008 6,000,000 &
® QIR ASE =20
—UBHAH| HESAlZ (1Y+345]+2A12t50,0008)+ 4,280,000 &
® 0121 2Y =20
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ot = 20243 9T | 202431 H S = 7 ron
BXIEZ Gl ALH | 2RI O AboH Soss AE2H 29
o g = (A) (8) G

—(2LEFZHH] 10,0002 %24 A 2b+1 H+345]+15,0002+3 15,860,000 &

® QI AH DS S I BOIETFT

—E DA EA L oI (1058%10,0008)+25]+& AFEY 400,000 &

® DI2FHH| BEHXCEAEH|

—AITH 10,0008 +5H*33] 150,000 &

® Q1A DS ZAEA TFT

—EDARA L Ol (308%10,00081)+ AICH (101 1,000,000 &

® QI2+AH HSSUISXIHI 11,0002+122 132,000 &

© ZH DS SAXHIQZ 6,0008+122 72,000 &

® QI2tAH ADE L J|EI2D Y

—S22H| (400,000 %221)+ L BFAH| (350,000 * 13,750,000 &

® 2oy oy

—S22H| (300,000%)+ LEFAH| (10,0002*375]) 670,000 &

® YA SO EA

—212 =21 20%+100,0002*15H )|+ 25} L X S 4,600,000 &

© MASOILIEIA SEH DE0E L SS235| 2 H)

—2I3] A 100 #20,00090+15H(+00 21T 4 3,600,000 &
—M2H(EZT 3H*150,0002 18t J|+& 2H| 2074: 3,450,000 &

— 320t 1J%70,000R 25| 140,000 &

® MASOILIEIA 22X

—AICH (202 %20,0002 +113|+402%20,0002 % 1135]) 13,200,000 &

—2LAIH| (202 4,000 %113 +40 2 %4,0002 «113]) 2,640,000 &

—OIMH| (202 #7,50090%115]+40 2 +7,5002 %113 4,950,000 &

—JIEF2 S H| 100,0009%113] %2587 2,200,000 &

—3|9/H| 158]%200,0002 3,000,000 &
zu st

— JIEF2 Y H| 700,000 %10 7,000,000 &

® A Z 20 O

—AICH 202 %20,0002+23]x28t | 1,600,000 &

—2HAIH| 02 %4,0009!%105]x28 )| 4,800,000 &

— 2T 2H| 3Y+100,000R 25| *25 7| 1,200,000 &

— 2 X Q2 5AI2tx10,0002 %125]x25 )| 1,200,000 &
— 2T AHSYH| 500,000 *25H)] 1,000,000 &

—DOINKE Y2 S2H| 10,0002 %15%= 28] 300,000 &

— 35/ 9[H| 100,00081%43]x25¢ )| 800,000 2!
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o = 20243 HAC | 20243 A S = roron
3XIZA GAY | 2XEEH Ofl Ao sS85 A= 2o
o & = (A) (B) G
—DIEr2 %l 200,000 %234 400,000 &
® stE T
—AQE U JIE2YH| 100,000 +33] 300,000 &
® KALS 9|20l
— SA B XH| 40,0009 %113 440,000 &
— 2 AMI3002 %158 «115]+AIH| 2 CHIHH| 8,000 1! 1,370,000 &
—JIEt2YHl 40,0008%113] 440,000 &
® A2l X2 150,0008 28| 300,000 &
HOLEHE HIE SSL, MacAdress2Z 11 * 600,00 600,000 &

© AYEOIAHIA 13 * 550,000 550,000 &
© AT T2 AIR 2 300,0002 300,000 &
® ASCIQ QA& BIZal AFRE 400,000 400,000 &
© AS0Q & L HO0|TY ADZE 1) 1,900,000 1,900,000 &
© TE= Y CFHH 10DE * 135] X * 2%+ 2,000 520,000 &
©® QAT UE TOIAY Tt 3Y+13]%100,000¢ 300,000 &
© U292 ZE= I} ABIE I 38+300,000¢ 900,000 &
@ Z22HIWSAH WSHIS=25H S-D3-2-1 1
—5Hl LAB KA 54,000,000 54,000,000 ¥
@ IEDNYSP HEHISE23H C2-3-2 XIS 23
—ANR2E, [, 2B 2SH| 908,000 908,000 &
@ DSt A RC SAANY JIEA 2SS JIELS ~40,000,000 &
® IEHEAIERICH HAIAS (39 E) JIEFAIY 29 2 490,000,000 &
@ WAABAMIE CHEIRAHIS =254 C2-3-2 X2 §
—dIE 294l 11,520,0002 11,520,000 &
W 22U R AT (hetH S =25 H S-D3-2-1 ¢
—K_MoveA 2 AF2} (50,000,000 +13]) S 4 50,000,000 ¥
—CH Bl B IH A (50, ooo,ooo%*mn = ol 50,000,000
W E2H HEHISE23H DI-2-1 A=20 5 -
—9|201 QA4 RF| 12,300, 00004 12,300,000 &
WOISNYUSY HSHIS2235|H C2-3-2 X% 23 -908,000 &
W CHBHE AL RICH S ALAIY JIEFAFI 2 2| JIELS 64,844,000
W] CHSHSl A RICH S AIALY J|EFAI S 2| JIELS 54,479,000 ¥
W) CHBHE! AL RICH B ALAF AFQIHIBHE JIEF2 Y ¢
—0023E HBIE AIXIR AFRH| BHY 2,556,000 2,556,000 &
W C§5tR DEtH (HEHAHIS=235H D1-1-1 319l T
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o = 20243 HAC | 20243 A S = roron
3XIZA GAY | 2XEEH Ofl Ao sS85 A= 2o
o & = (A) (B) G
—ANES I E E20EH 22| 800,000 %409 32,000,000 &
W OB SUXMIZELS|H AS-1-1 L&II2 ©
—JI2X L 22 &) 40,000,000 40,000,000
@ Z2LOHSAY HSHIS=235|H =-D3-2-1 136,900,000 ¥
@ =2X (BHIS=23H D1-2-1 A =20 FEHM
—9| 201 QB QA Al 242 SN 156,055, 156,055,000 &
@ 5/ & AEXICHSHAAIY JIEFAIZ 2| JIErS ~60,971,000 &
@ 252 H HEHIS=25H B6-1-2 208 HA
—HEHHN2HE BUMZHE 29 S} 9,629 9,629,000 &
@ =HLSHE HEHIS=23/H DI1-1-2 31=20] I ~7,500,000 &
@ 2HNSHE HEHIES23H D2-1-1 A=0] & -88,100,000 &
@ (IS S AZXICHHAIARY(3SE) JIEFAIY 29 2 ~439,893,000 &
@ ASOIOIAS AT (ISHHIS =25 C1-3- ~10,050,000 &
@ [ist2 sH HEIAHIS=235H D1-1-1 12l T ~4,000,000 &
@ U AABAMIE] (HEIRHISE=23|H C2-3-2 N S -6,400,000 &
@ HMOIHMISA SE5|H C3-1-1 BAXADS &
—SHASOILEIA 9 A Z 200l 22| 30,0 30,000,000
@ HOIHMISA SN C3-1-2 BHDNSI2]) ~26,000 &
@ iSIAZDH (HEHRAD|SALSH A SUA SR 2 -300,000
@ LS TMISY S C3-1-1 BAXD ~571,000
@ LSAAHMISS S|} C3-1-2 BMN|D ~300,000 &
B 1,941,552,000 &
41,121,009 | 41,310,860 189,851
156,000 138,000 18,000
4311 156,000 138,000 18,000
ol ) o1 14| XI2 36,000,000 +3% 108,000,000 2
2EI= JHE 3 RH| 102 % %3,000,000 30,000,000
Ol Ab 2+ S=235|H E1-2-3 (e A |
5201y Ol A AR 2 18,000,000 18,000,000 &
B 156,000,000 &
4312 - - -
ol el
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= 20243091 | 20243199 [ .
3XtF=Z Ol | 2R = Ofl &K Tag) sEZ = Y9
Z = (®) (8) a8
29 - ¥
39,673,210 39,980,282 A307,072
34,562,500 | 34,283,000 279,500

@© g2dII= el &8 NEIIF= 65,000,000& 65,000,000 &
® KT&st=2l Ch== 120,000,000& 120,000,000 &
© S2MHEs=2 C== 190,000,000& 190,000,000 &
© =I)H=E &&= 6,7508+4,000,000& 27,000,000,000 &
@UeAFSIAIA (IOt II7E, NS, YetsXH g
—gst= X& 3,0008+146,000& 438,000,000 &
—XIS QT 100 *4,000,000& *25t )| 800,000,000 &
—=Jt I =€ 6,905 +%200,000& <25} J| 2,762,000,000 &
@©uAHSAL
—2&5 508%2,500,000& 125,000,000 &
—N=ZSTHE S 20E+1,500,000& 30,000,000 &
—=I22S 400 +500,000&+12HE 2,400,000,000 &
® We IREE
— JHEIDJI2 80,000,000 25t )| 160,000,000 &
— WEA£1W3[ 70,000,000& *25t 7| 140,000,000 &
—yEttfeE S&3 5,000,000 *28¢0| 10,000,000 &
— HdWEH(AEIE WS S) 10,000,000 2517 20,000,000 &
® ueds=
— A Etnsl[M2] (1298 = 500,000&) * 2 12,000,000 &
— WA [MOH] (5 » 500,000&) » 2 5,000,000 &
— HALS (108 » 500,000&) * 2 10,000,000 &
— JIEt I3 (28 = 2,000,000)%2 8,000,000 &
— JIEF D12 302 » 2,000,000)%2 8,000,000 &
m IS8 2HII=SE3H E3-2-2 Msd =X
—I| 2L EH IR 23 24 -20,000,000& -20,000,000 &
@ StdX UHSHISSS3 M E3-2-2 Mstd =X Xt 1,412,500,000 &
@ X (HStHISE33 Al E3-2-2 st =X X -1,400,000,000 &
@ SIdX USHISSS3IH E3-2-2 Mstd SX| X« 267,000,000 &
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= 20243 HAC | 20243 A S = roron
3XIZA GAY | 2XEEH Ofl Ao sS85 Az 2o
o & = (A) (B) G
B:|  34,562,500,000 2
4322 706,046 652,087 53,759
DRSS @sHARH D222
—2058 109+400,000 4,000,000 &
® DUEE2
— 2L BX FE (2Y * 1,950,000 7,800,000 &
— 208 S8M3 (129 * 500,000 12,000,000 &
— 2108 ThOlIR 3l (8% * 350,0008!) » 2 5,600,000 &
— AR} FE (5 x 250,0002) * 2 2,500,000 &
— BHOFZ[JIES2XH] (8 * 600,0008) * 2 9,600,000 &
— BHOFS [RHASI] (5 * 400,0008!) * 2 4,000,000 &
— E2X5 (29 * 3,000,0008) * 2 12,000,000 &
— BHHE (10 * 200,0008) * 2 4,000,000 &
— SHXE (1Y « 3,100,,0008) * 2 6,200,000
— AEES (155 « 300,0008) * 2 9,000,000 &
YA TH QI ESE (419 * 500,0008) * 2 41,000,000 &
S20I[ZAH RS (25 * 400,0008) * 2 20,000,000 ¥
W AIREAERS (7Y « 600,0002) * 2 8,400,000 &
THEH M AFSE (855 « 390,0002) * 2 66,300,000 ¥
225 19 « (10,5008 * 432A12}) 9,072,000 &
© 397 M2 SFSIE « I B x 22 M 30 « TH3 132,678,000 &
© 390 M2 SFSIIE « 6 B x+ A2UM 20 x Ut 78,624,000 ¥
@70 DY SSTE « 64 B8] « 22M 20 « &5t 05,452,000 ¥
© 230 M2 SFEIE « 30 B x A2UM 1Y x 23 13,041,000 &
@ AB NS SHES|H C3-1-1 BAXADS HA
—2IIR2 X} & 15,600,000 15,600,000 &
—ME{ D! =5 3,900,000 3,900,000 &
@ ASAAPM NS SH5|H C3-1-2 BMD|D
—DUME, DYV, 0|2 US FE2 161,520,0009 161,520,000 ¥
@ A (HEHIS=25|H £3-2-2 MatA =X X
—2&3 52 2,700,000 2,700,000 &
@ LSAAHMISS S|} C3-1-2 BMD|D 51,059,000 ¥
I 706,046,000 2
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= 202431 H AT | 202431 AAT = 7 ron
BRIEY OIAY | 2%k ol At oy ME2H 2o
o g = (A) (8) el
4323 2,973,594 3,107,881 134,287
L PSP ® Asl= RIS Al
—HTASTEEE SMPYS 1,0008%1502+2,50 450,000 2
® SZASH S 100,0008%210 21,000,000 &
© SN NS
— 2EE 70¥+2,5002%23] 350,000 &
© QAT AMAS
— 282 65%+2,5002 +5008 163,000 2
© SSRESD AMAS
— 2EE 156%+2,5002%25] 780,000 &
© XM AMAL
— 2HE 156%+2,5002 390,000 &
OR-T=P=LIPNPNE=
— 285 200%+2,5002 500,000 &
® BZASH S 100,0008+50 5,000,000 &
® 21249 AIZAIZE 50,0008 %20 1,000,000 &
© HEtsAXRAY DSHPT2 N L 2|
— SIS AIXI ALY AEASSRI|EHBE 1,900,00 1,900,000,000 &
© THSHSIAIRIRIANS DR &N A
—DHEHE A XIRALY AlBAISSHRD|EFB S 45,000,00 45,000,000 2
© DS ARAAY ABASII 7Y 2|
—DHEH S AR R ALY ABASSHR)|EFB S 97,500,00 97,500,000 2
© NYHS 245 AY DSHPT2 BN L2Y
—NYHE 245 ALY ABASS2IIEIRS 250,0( 250,000,000 2
© NYHS 245 A DSHAPT2 BN L2YY
—NYE 245 ALY ABASE2IIEIZS 40,000 40,000,000 2
© SIS ANRAY RDSATEZ I HL 2|
—CHEHS A XIRANY AlB A THEHR 3,000,0008 3,000,000 &
® JHAZ A 400,0002+2TH*0
® JIHBHIASER 2,500,000 %1 A1%0
® ATEYN 2 5,000,000 5,000,000 &
© 0SS 2E= M 102 310,000,0002+4 % F 102,000,000 &
© 22T VA TR A2 1H%400,0009 400,000 &
OJEIE=1-In/R-TPONF
— 23 E 400%+2,5008%23] 2,000,000 &
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o = 20243 HAC | 20243 A S = roron
3XIZA GAY | 2XEEH Ofl Ao sS85 A= 2o

o & = (A) (B) G
— =2t Al AFHl A AL 30,0002 %60 AAFSIZ#20H B 21,100,000 &
— =20 A AMH] A AF 30,0009 %60 Al AL S %2} 21,100,000
— =22 AA] A A 50,0002%60% AAFSIZI%20H B 41,000,000
—=2%SH| 150,000 * 50 * 2I45¢)| 15,000,000 &
—=2XC E2H| 150,0008 * 502 * 2J45H)| 15,000,000 &
—=2J} Al AH] 510,000 * 182 * 205+ 18,360,000 &
—=2J}AAF £ H] 50,0002 * 18 x 2J45t7] 1,800,000 &
—=20iH| Al AtH| 500,0002 * 18 = 2JH3t7] 18,000,000 &
—=20|HI Al AF S H| 50,0002 * 18 = 2JH3t]| 1,800,000 &
—=2= Al A| 750,000 * 182 * 205+ 7,000,000
—=2=AAF E2H| 100,0009 « 18 « 2045 3,600,000 &
® =2MAZ
—=2X S H A AF70,0009 555 %25 )| 700,000
—= 2T} AL AFH] Al AF 30,0002 *58 « Al ALS| S 32 %28 900,000 &
—= 20 HI Al AFH] A AF 30,0002 x5S« Al AFSI 21 35 42 900,000 &
—= 22 AAH| A AF 50,000%5 2 %Al AFSI Rl 3«25t 1,500,000 &
@ =2MENA AIE SR/ HE, 2= X2
— Q20AIE MAH B2 15,0002 +252+27) & 750,000 ¥
— ZEAIE HZH D=L 15,0002+680 D 2«2} 5 20,400,000 ¥
— ZUES] B DA AAIE 122150,0002 «2H 3,600,000 &
—EBAIE SR L Z=H| 120,0009 * 142 « 20 3,360,000 &
OEENEE
—QI20{AIE HZH B2E15,0002 20 2*10%#28 600,000 &
—ZEBAIE RIZH 215,000 %60 245823t 900,000 &
m et e (B AU S= 2352 D1-2-1 220l
—=2XTH L E%H| 2,400,000 2,400,000 &
—=2J}AAFHl 2 £ 24| 3,360,000 3,360,000 &
—=20HI A AHHl & S| 1,680,000 1,680,000 &
—=2=AAH 2 £ 2,550,000 2,550,000 &
@ (st sty (HE AL S=235|H B7-2-2 ({5 ~15,520,000 ¥
@ (st sty (ISt AH S=25|H D1-2-1 2|20l ~7,000,000 &
@ st sy LIS (HEIAHS=23]H BT- -3,580,000 &
@ (52 sty (ISt AH|S=25|H B7-2-2 ({52 ~7,139,000 &
@ st sy LSS (S AHS=23|H BT- ~580,000 &
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o = 202451 H S | 202439 E = 7 ron
BXIEY OIAHN | 2XHRF Ol A oy ME3 2 o
o g = (A) (8) (A8)
B 293,341,000 &
4325 96,369 157,300 60,931
SV ® DOWUF SHMT| 2
— ZWLF DI 500 +10,0002 2745t 10,000,000 &
— MY BOHZE X9 &8 400,0009 1 H 25| 800,000 &
— AFAS WL XS BB 170,000 x5 *28H) 1,700,000 &
® A SOPLIEA
—5HH| 2% 1,500,000 *4% %25t )| 12,000,000 &
® A2 20131H 0]
—5HH| 2% 100,000 20 *25¢))] 4,000,000 &
® st
— 220X 225,000 +3 0 =2+251)] 1,350,000 &
— XIS 250,0002*1 H*25tD)| 500,000 &
—DEAFEZ 225000 +3 Y2+ 281 2,700,000 &
—JIEFEEIZ 225,0002 %1 D 2+5 281 2,250,000 &
® S HEtHIS= 2312 E3-2-2 JHEH M =X XI$
—SYUSMNAZDSSHF R A OFEE ALY 5, 5,000,000 &
m 2RUNSHN S S=E23H S-D3-2-1 ¢
—oH QI H4EHZ 130Z+900,0002 117,000,000 &
@ 22T L (S S=23/H S-D3-2-1 ~37,900,000 &
® st 2 mat EHi*%ngﬁgglﬁl B7-2-1 [t 2,121,000 &
@ HMOIWMISY SN C3-1-1 WMXANS F -20,910,000 &
B! 96,369,000
4329 1,041,360 1,452,654 411,294
JIEFEH A Z b ® H2EZ 1,000 1,000 &
® F A HSHISAI 3,000,0008 3,000,000 &
ORI P EDNI=IN V=T~
—AL / 2bALH| 12,0002 %2502 *11A1%23] 66,000,000 &
—QIS24 At 2 44| 15,0008 %250 *23] 7,500,000 &
—29H159,875,0008+23 < £ 4, 2 E HE 22H|, 319,750,000 &
—THHI 10,0002 +250F*2%*23] 10,000,000 2
@ u=s 2 fYIAS
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o = 20243101 | 20243 H S = roron
3XIEZ Ol | 2% Off Ao =os A= 2 o
o g = (A) (B) L
—9|=20I9EHM Tl 170,000 %153 2,550,000 &
— Q2IHOIM, HEMBADE S ZINFEXABAL | 1,000,000
—QIROIBtAO| & S J|EFHAL 20,0002 %50 1,000,000
N2, B2 AT U 2E 2eH| 20,0002 %100 4,000,000 &
© EAATIZE
—AlH] 110 %6,0002 %24 %20 26,400,000
—= DI 1102%10,0002 1,100,000 &
@D FOHEHA CHEHMEH T & XI R AFY
— T ROHBHAN CHEHAIEF RIEI K AR : 10,000,000 10,000,000 &
_HEAMAE D4 30,0002 552 %3 450,000 2
_HEAAZ 24 20,0002 55412k 122 1,200,000 &
_AIQIA QR Q0] ZHAFHI: A THHIOIK: 100,000 300,000 &
_AIQIA QP OOl ZHARHI: 2% HE 100,000 %1 A 100,000 &
_SHHIAAIARS| AAZH DS ZAI100,0002 554 500,000 &
SHAILAARS] ACDS A 20,0002 %5 Al 2Hx1 1,200,000 &
GHHUALRS] HA AFZE: 3500041109 3,850,000 &
_AUXEE AI2A L FSATHIE 100,000%1 21! 12,000,000 &
OIE ECHATHHIA 2 A 22 HF 100,000 %3 A1 24 8,400,000 &
Ol MOl TS84 AFELH|: 100,000 #4312 4,800,000 2
_QAACRl AIAF 100,000 «8% x5t )| 1,600,000
A B ABAHHIOIY S: 75,0009 +5 375,000 &
_A2= 30/~ Y WXI: 3,2002%1007H 320,000 &
_AIRIZAF 3 22 MMPI 5,00081 %3005 +TCl 3,00 4,900,000 2
HOIATHHIE AS2: 120,000 %34021%0.9 36,720,000 ¥
_9E HOIASS: 40,0008%30021%0.9 10,800,000 &
92 IHE BEASLS: 80,0002+30AH%0.9 2,160,000 &
_SX QBIHAIALEZ: 70,0008%1024%0.9 630,000 &
SN SEIHE, 22ALR: 100,0008%54+0.9 450,000 2
ZHIEI2| 2AMH] THEHA: 180,0002%4021%0.9 6,480,000 &
_EHIEI2) ZAH] QR0l, ZM: 250,000 «424%0. ! 900,000 &
_4p M DI HIE: 300,00080 13 300,000 2
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o = 20243101 | 20243 H S = roron
3XIEZ Ol | 2% Off Ao =os A= 2 o
o g = (A) (B) L
_UMARPM IS Y KE 545000913 545,000 2
22 AAX YL EE2 HE: 2,640,0008 13 2,640,000
S2 AAX L BES ME QI2MH|: 150,000 *3% 450,000 2
83| b D] 2 ¢13]H]: 600,000 600,000 &
SHO0IX SA22IH]: 110,0008 %123 1,320,000 &
_E0IX 2 #0I=Hl: 500,000 13 500,000 &
HIOICI 2 ZS2A X MR
— ZOWZE HIOIC] A 8,0002 %3002 15t 2,400,000 &
— =AM 2X 502%10,00004 500,000 2
@ B2 2 A ALK 20,000,000 20,000,000
® YEIA DEXE
— =% 2|0 IS YL US4 OHY AlTH, 2HAH] 2,000 7,200,000 &
— =% 2|0 28 W2FHIH| 500,0002 23] 1,000,000
— Q2IMEI01 & AlTHH 10,0002 %20%*25¢ 7] 400,000 2
— Q2IQEI0IA Q1M HI 300,0002%25! )] 600,000 2
— =% o1& AIGH,CHIHI 15,0002 %102 23] 300,000 &
© MEBD RS T2 U HEXY
— HIAFOEE 2] 400,000 %254 800,000 &
— S ELAME M4 5000240512012 2,400,000
— HAEE E79 200,0008+63 1,200,000 ¥
MED EQ31E 6,000 %2,0000H 12,000,000 &
— XA XI 50CH%100,0008 5,000,000 &
— MIEFDI 3CH#1,000,0008! 3,000,000 &
WA D 20CH*400,0002 8,000,000 &
— MBI} 5OJH*8O 000 4,000,000 2
— MEIDEAMMOHA 2 QT AN 24| 500,0008 %13 500,000 2
© M RS T2 U HEXY
— QIAMA AlR| AFEH AICH, 2FAIH] 10,0002 %1502 #2¢ 3,000,000 &
@ JISA B3 29 Ha
— HIGIE A 90074%10,00091 %23 18,000,000 2
—OHE2IA HA 1,9290H%12,0008 03,148,000 &
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o = 202431 H S | 202431 A S = roron
BXIEY OIAHN | 2XHRF Ol A e NET= 29
o g = (A) (8) (A8)
— HIEDI W= &4 260H%100,0002 2,600,000 2
— BHAEIS, OHAIEHS B4 9474%45,0002 %25t )| 8,460,000 &
— SAIZMY I £HUIS 180,0002 120 2,160,000 2
— Sal2MY | 22lS 200,0002 %20 4,000,000 &
— OIZAIE 100K E+20,0002 2,000,000 2
— SHAIMED 2279 2,000,00021% 12742 24,000,000 &
@ M oX T2
— ABER 20A1H| 500,00021%235¢))] 1,000,000 2
—AHAMS D] IHSEQAH| 15,0002 x2A] 2| 180,000 2
— MEAME DS ADEH| 300,0002+63] 1,800,000 2
— MHAMZE DS AHH 10,0002 %1563 900,000 &
© MAMED DD T2
— AEHEBIOIZ AITH2AIH] 12,0002 %202 x28]+25¢] 960,000 &
— AUB 2 EY0/L TR AIGIFAIH] 12,0008 960,000 &
— 210181 B SHe ZO AITH2EAIHI 12,0009 %20% 960,000 2
— OHSOMHEXRGH=L AHRFAIE] 12,0008 %15¢ 1,800,000 &
DISCIAMEXSEH=Z M| 15,0002 122 #2: 360,000 &
— LIS RO0IHs S018 AlLH2FAIH| 12,00081%152 1,800,000 &
— U2 S0bots SU0I# ZHISEH| 10,0002+152 300,000 &
— LIS RO0IHs 012018 AlL2FAIH| 12,00081%152 1,800,000 &
— U2 S0bob= 01201 @ ZHIZSEH| 10,0002+152 300,000 &
— QB0 QIOIE CH3H Bots B AITHZFAIEI 12,000 1,800,000 &
— UEB0| QUOIE CH3 Bots B A ASEIIE 50,0 300,000 &
— 202 2T AITHZHAH] 12,0002 152 %53]%251 D) 1,800,000 &
— 22| J2HI FYISBHI 10,0002 +15% %28t 300,000 &
— 952 SHLbE MA Y XIRY| 15,00020+202%63 1,800,000 2
oI5l 2 DILb= A& AICHE| 10,0002 x20% *63] 1,200,000 &
— &24°] 2ICI4 AlTHYI 10,00021%36% *85|%25¢D)] 5,760,000 2
— 22IHE Al 10,0002 x40 %3525 2,400,000 &
— 22HE HA8E 300,0008%25¢))] 600,000 &
—JISD OINE st SHEX S ALY 10,0008 6,000,000 &l
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o = 202431 HSE | 20248 HAE e
3XF=E Ol At | 2K = Ol At oy MEZH = 9
o g = (A) (8) (A8)
— ZAb AITHZEAIH] 12,0002 %152 55|28t )| 1,800,000 &
® StMSX L X2 (et & glwdt T2 7)2H)
—Sl &AL YEHH MIA N SXE4 2H2IH| 150,000 1,800,000 &
—3&A2E 22H| 1,000,000 4 & 4,000,000 &
—H2J| XL 224 420,000 12 5,040,000 &
—S% GF ALY CHHHI 12,000 %5 %43 240,000 &
—QIAF ElAF QHL AITHHI 10,0009 %102 43 400,000 &
—AITHHI 10,0004 *7 H+63] 420,000 &
—2HAIH| 2,000+ 7 H %63 84,000 &
—M2 ZHIH| 250,000 x43| 1,000,000 &
—Q2|AHIOl& AITHHI 10,0002 %40 %25 )| 800,000 &
—HIAMQEZ AMM ZQIJIE JIEF 22 22 3,000,000 3,000,000 &
—3THCHI S&d] 2tAl, 8 294H] 500,000 500,000 &
—AHAM S 2A2,A2EH],AHHl S 1,000,001 1,000,000 &
—gtod 2t ADE 100,000 %1200 1,200,000 &
@ HUASHOILMSAMAAC HSHHISE 23 H C2-3-
—2 QI =248t -31,575,0008 -31,575,000 &
@& AT ZHALE HEHISZE 235 H C4-2-2
—Us LT/ AL (2 0) LA LR olEsAH 9 420,000,000 &
—CHSrU T2l AEI A (EH]) RIEAEFZ 28 20,00( 20,000,000 &
] SHAACHAIE (HEHRIHIS =33 Hl B5-2-3 24
—SH A ALCHAIE] 0228 ZAI2 2 24| 7,351,000 7,351,000 &
—SHAIALCHAIE] {228 A2 2 22H| 17,700,00 17,700,000 &
@ AZXYSE [YSH|ISE23H S-B1-1-3 B 2] -3,040,000 &
@ 2HuSHE HSHISZ2235H D1-1-2 &t=0f 1 -5,000,000 &
@ HHASOHOIASAAIRCH (ISHHIS 2332 B2-2- -332,094,000 &
@ (iS2Ws Y WerHISE 33 H B7-2-1 & -1,006,000 &
BHAACHMIE IS RHISE23H A1-1-3 AOIE -500,000 &
@ BAACHHIE HSIRHISE33H B5-2-3 24 -7,260,000 &
@ BAACHHIE (SIRHISE23H E1-1-2 & 2 -600,000 &
@ B MER SEEH A1-1-6 SIMEXAIA A ¢ -7,700,000 &
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20243 H A

202431 H A

= = A JIOH
~ 3XIEY A | 2%H=F o Arod SEE MBI 3o
o g = (A) (8) el
@ HAMEYU ELHSIH A1-1-8 J|sA &8 &L 29 -42,000,000 &
@ UM MSID S5 B3 -1 J|ESS 2 25 6,500,000 2
@ HAME YU EYS|IH B3-1-1 J|xsts 9&F 245 -394,000 &
BHA M S EHS|H B5-3-1 UHSS SHAHAG T« -3,000,000 &
@ HSHAMED S5 H Al-1-8 )|=Al 82
—ME=HlH 2 -1, OOO 000& -1,000,000 &
—AlHAM 28 2AIE A2SH| AOH 22 -1,000 -1,000,000 &
—2AF ElAF OHL A CHB] %*ﬁ -200,000& -200,000 &
s:]  1,041,360,000 &
cld| 1,291,799 1,192,578 99,221
4331 587,435 540,500 46,935
QAL ® =My
— 2= Al X2 =281 4,000,000 4,000,000 &
® Tt QA~T X2
—=H =2 10%%100,000& 1,000,000 &
®LE2ay
— = Al JH2I=81 19,000,000 19,000,000 &
— &A-F=II2E 8,000,000 8,000,000 &
— He! 1,000,000 1,000,000 &
— 2= =& 308+ A2 *100,000& 3,000,000 &
® BIag
— Z2=Al- X2 =281 100,000,000 100,000,000 &
— AA-FII2E 24,000,000 24,000,000 &
— =2l 11,000,000 11,000,000 &
® IS 100,000 42523 800,000 &
—ZJt Y MERS 1289%100,000& 1,200,000 &
— Il =& ADJ|,HE M| 70 *200,0008 + &7 4 23,000,000 &
® =4 Da Ao
— =Al-JH2I=81 110,000,000 110,000,000 &
— 3A-F=II2E 40,000,000 40,000,000 &
— H2! 10,000,000 10,000,000 &
@ =oIAI2e] AR =E 100,000 *8H*x25t) 1,600,000 &
— &=H| - N =& XM 25%H«55]x200,000& + =] 34,000,000 &
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o = 20243 HAC | 20243 A S = roron
3XIZA GAY | 2XEEH Ofl Ao sS85 A= 2o

o & = (A) (B) G
CEEEI S
— 2 Al 2t2 30,000,000 30,000,000
— XAl 22 20,000,000 20,000,000 ¥
— 893|223 = 70,000,000 70,000,000
® 3lo|ag
— 2 Al-XH2I =21 5,000,000 5,000,000 &
— HAI-Z=IIDE 4,000,000 4,000,000 &
© QUSHEE 2923 32| 1,450,000 23] 2,900,000 &
— 3|9 &% ®MI| 15%+35%200,0002 + =J| 152« 12,000,000 &
m 2L WS S=23H D1-2-1 Q=0 QB -800,000 ¢
W 2D LS S22 DI-2-1 9=
—[UEHHER] B4 S 200,000%5H*23] 2,000,000 &
m 2RDN2H HEHIS=E25H D1-2-1 /=20 Q8
—o|ZoIY A2 DRV A+ -1,600,0002 ~1,600,000 &
—9| 201 A 22| 25 200,000 *15%x23] 6,000,000 &
W A A (BRI DB (ISt S 23 ¢ ~10,000,000 &
W 2D LS S22 DI-2-1 9=
—[UBHHEIR] F=H RIS AS 200,000%152 %23 6,000,000 &
W ABHOIAH A (BB (IEHAHIS= 25 ¢ 10,000,000 &
W 2RDEH HEHISE25/H DI-2-1 220 98
—olst A S 22| 9 93| 5]2H| -1,700,000 ~1,700,000 &
W BRI DER (HE Y E= 23| H B6-2-2 48t ~4,900,000 &
@ 2522 B6-1-1 LAIFE ME M/ IHe o] -1,750,000 &
@ [isi2 s (HE AL S=25|H B6-2-2 245 500,000 &
@ (st nstH (HEt AL S=25|H B6-2-2 @45 -400,000
@ 222X BE-1-1 LAIME T A/ ML o5 ~11,050,000 &
@ (st sty (HEt AL S=235|H B6-2-2 @45 ~500,000
@ [isi2E ] (HE AL S=25|H B6-2-2 248 ~700,000 ¢
@ 2522 B6-1-1 YAIFE ME M/ IHe o] ~765,000
@ (st ey (HE AL S=25|H B6-2-2 245 17,300,000 &
@ (st sty (HEtAH|S=25|H B6-2-2 Q45 ~2,000,000 &
@ st sy LSS (HEAHS=23]H B6- 5,500,000 &
@ 2522 B6-1-1 YAIFE ME M/ IHe o] 10,000,000 &
@ s nsH e AHS=25|H B6-2-2 L5t 25,000,000 ¥
@ 52 st QB[S (5 AH SE=235]| X B6- 2,800,000 2
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= 20243191C | 202431 AN S = roron
3XEZ OIAY 2% Ol At Taoy MBI 2 9
2 e = (A) (8) el
@ (i3I (WS AHS=23H B6-2-2 248 3,000,000 &
587,435,000
4332 704,364 652,078 52,286
A ® E20HH 22t Z 2| 100,0008 123 1,200,000 2
® 2AIZ2l A2 E 2,000,0008 %23 4,000,000 &
® QIS A 5000500 2,500,000 2
® a-HYs R 22|
— QA& 3 2| 35,000,000 35,000,000 2
— gsrEEetatsl 22| 20,000,000 20,000,000 &
— - AlEt2ts| & Db 2 2241l 8,000,000 8,000,000 2
— FAIZZEIE I 2 22| 7,000,000 7,000,000 &
— g2, T 2D 10,000,000 10,000,000 &
~ ¥4 33 10,000,000 10,000,000 &
— 2etel, 232401, D1} 22 70,000,000 70,000,000 2
® JI=AE oﬂ¢m
—QAF QHLY B 49¢ 139,00081+23] 278,000 2
® slo/t|
— ™8 T 2 319 6,500,000 6,500,000 2
— SR EEFE 2 2,000,000 2,000,000 &
— 817 2 AD|DAF 2H S 3,000,000 3,000,000 2
— DAXHE S5 1,100,000 1,100,000 &
OR=EE EESS—
— 2™ MM % & 15,000,000 15,000,000 &
— TAE| HHE 15,000,000 15,000,000 2
MSOHAXZ HIZ 9,000,000 9,000,000 &
OR=EE EESS
— QEBTE I ST 30,000,000 30,000,000 &
— &J|18Z {X 24 5,000,000 5,000,000 &
— AANES 242 120,000,000 120,000,000 &
— SRS HBEIIAIAE 7,000,000 7,000,000 &
— AJIEIH, SRS, JIEILAIGRRE 15,000,00( 15,000,000 &
® A-EYE B ]
— $A2FLY L 2@t LH 30,000,000 30,000,000 &
— HASTR Y Bt 2H 30,000,000 30,000,000 &
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= 20243 IE | 202439E |
3XZY Ol 2= olar | T AE2A 29

2 & S (
—HYRYe2 & 2 2 8,000,000 8,000,000 &
— JIEF eI4fd] 12,000,000 12,000,000 &
© Xtz 2|
— XA=+g 2,000,000 2,000,000 &
© 2224l
— =A22F 10,000,000 10,000,000 &
— JANALE2F 5,000,000 5,000,000 &
—HAAL2F 2,000,000 2,000,000 &
—JIEtA2F 2,000,000 2,000,000 &
®zze3
—SER3 1,500,000 1,500,000 &
— 3423 1,500,000 1,500,000 &
— AMEAE 323 12,000,000 12,000,000 &
@ /\It”
— = AlAld] 2 2HAN 20,000,000 20,000,000 &
— ZAlAHl € 2+A 15,000,000 15,000,000 &
— HYAald] 2 2+A1 1,000,000 1,000,000 &
— JIEtAIH] 3,000,000 3,000,000 &
® Y RE N DR R 0|
— =Al &2 50,000,000 50,000,000 &
— &Al &= 10,000,000 10,000,000 &
— sl &= 1,500,000 1,500,000 &
— 2 €93, g&al, REE S 0dH] 20,000,000 20,000,000 &
® =32
— =Xt= 200,000 200,000 &
® ANEABE
—YgsdEII2E AIEAMESZ 6,000,000 6,000,000 &
—2EXY 2IHIE, S#HZ = 3,000,000 3,000,000 &
— S2 ABIEE 45]%800,0002 + EJt LB FE 43 5,200,000 2
m =HLFX HEHISE32H D1-2-1 2/ =02 |/ -1,200,000 &
m =HLUFX HSHSEs=2/H D1-2-1 /=0 78 -700,000 &
m] ASHOAHE: Yt B6-1-1 YAIEE HE 10,000,000 &
W ALY A USHRIR] N B6-2-1 YAl ER2O Tt ~10,000,000 &
W 2HDEH LA S=23H DI-2-1 2=
—[ettiet @ g Al2tel 228 2,000,000%23] 4,000,000 &
—[BrHErR oIS HMIAHI 5,000x500% 2,500,000 &




ot = 20243 9T | 202431 H S —  oron
BXIEZ Gl ALH | 2RI O AboH Soss AE2H 29
o g = (A) (8) (
@ =N EA HEHISE=25H D1-2-1 =0l 9B
—XIX NBEA AIAE 2E 6,000,000 6,000,000 &
@ 252X HSHIS =253 B6-2-1 YAl B2 -4,000,000 &
@ ASHAMED SHE|H A1-1-8 I SAF Di' -278,000 &
® o=t ChEHIS =381 B6-1-1 YA X 3,565,000 &
@ 2522 H HBHIS =235 B6-2-1 LAl BE° 8,799,000 &
@ S22 A B6-1-1 LAIFE ME M/ e o5 13,000,000 &
@ 25 22 H B6-1-1 YAIXE T A/ e o5 10,000,000 &
@ IS A D& A HEAHIS= 23| H B6-2-2 48 4,700,000 &
@ ZHN2H UK AL S=25|H DI-2-1 9=
I HE &4 AIAE 2= 6,000,000 6,000,000 &
@ (S AW A ABHHES (5 AY S =235/ B6-
—QAIRE] ARE 9! 2 150,0002 2,150,000 &
—QIAI 22| E&H| 300,000 300,000 &
—QIAIEHOI K} AlH| 15,0009 %15 %22 450,000
—XII X 2HAIH] 10,0002 %1609 1,600,000 &
BHI: 704,364,000 2
ERE 25,555 05,266 289
4410 XI 20| Xt - - -
4411 - - -
XI20I Xt
BHHI: - g
4420 JIE} DS QA 25,555 25,266 089
4421 05,555 05,266 089
Eaal ® Tl
— JIE &= 4 1,000,000 1,000,000 &
® B==3 1,0002 1,000 &
— =2XITH| OIBHERF SHAYAl XI2 150,000+3H+25 900,000 2
® E£4l 10,000,0002 10,000,000 &
@ MBS SHEH C3-1-1 BAXADK M
t2=Al 3,000,000 3,000,000 &
W E2H HEHIS= 23| £3-2-1 DAY SM=X
—a|£E BIA 2 2 FHSHM JHAM 10,365,000 10,365,000 &
X HWEHIES235H SSAPAUNZ(HISES




o = 20243 H AT | 202434 e
3XF=Z Ol &t | 2K = 0fl ArH N AEZ A = A
o & = (A) (8) L
—FSH S THAM &2 1,189,000 1,189,000 &
@ (&2 sty HSrAHISE23H B7-2-2 &t -900,000 &
g8t 25,555,000 &
4500 M=2 — — —
4510 =3 = = -
4515 - - -
SEHIHANEZ
Al - &
4516 - - -
DUHEES2
Al - &
4600 OlHIHI 63,770 32,707 31,063
4610 OlHIHI 63,770 32,707 31,063
4611 63,770 32,707 31,063
ol ® JI2X UeHIS= 23 olididl 22 olidid] - 10, 10,000,000 &
@ JI2X etHIS=233 A oldlgl 22l odlbl : 3 3,400,000 &
® JI2X (st S4Es| A olldibl 22l olidid] - 2,9 2,999,000 &
® JIZX JI=SAFSE 3 H ollHIHI22] oliHIH] : 3,000 3,000,000 &
@ JIE2X MotEMIKIASE Y olgidi2el ol 2,000,000 &
® JI2X USRI ISAISE S A ol 22 O1|H|lj| 1,000,000 &
® D&l AetDRASH S| oI b 22| oidld] : 3,000,000 &
® D&M ASAATMNSASHS|H oldl gl 2te) 04 1,050,000 &
@ JIEX HERAHSZSZ3 H (M) MOHTHS R 0HI 4,000 &
@ J|EX Hetd S5 H ol 1 Xt =8 S 53 537,000 &
@ JIEXN JISAMSESH odlbH 11X =3 2 -32, -32,000 &
m JIE X WEAHIS=23H oldlbl 22l oidlbl 2% 5,600,000 &
m JI2 X WESAHSZS 23| HI(M ) MOHIHEH 0 HI | 20,000 &
W JIE X HEAISAISESE S A olHlgI 22l oldld] 129,000 &
@ JI2X EHIS=2 oiHIHI 22l (HIS=2) 0liHIH] 34,099,000 &
@ JI2X (SIL LSS H OHIH 3R =F 2 -G -3,536,000 &
@ D2 e NSASHS|H ofHlH =2l oidlHl 3% 500,000 &
8HAI: 63,770,000 #
1200 E XD EFXFA KIS 9,168,897 10,297,559 A1,128,662
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o = 202431 H S | 202431 A S = roron
BXIEY OIAHN | 2XHRF Ol A e NET= R
o g = (A) (8) (A8)
1220 ERRAKIZE 110,000 95,000 15,000
1221 - - -
EXNRIISANL
B8Hll: - o
1204 - - -
StRIIAEXK B
BHII: - @
1229 110,000 95,000 15,000
JIEFEXERHALX B ® JIEFEXIRHARKI &
—HIA YHBE S 42 50,000,0008 50,000,000 &
® JIEFE X RHANKI &
—AHEEZ £2 50,000,000 50,000,000 &
W HRH HSHIS=33 SXHAIIERA 22l (8] S
—EZ2 15,000,0008 15,000,000 &
W HRH WS Y SEE JIEFE R 2Rl (L5
—JIEFE X RHALXI Z —20,000,0008! ~20,000,000 &
® NSX S S=232 SXHAIIEFRA 22l (8] S
—EE2 -15,000,0002 ~15,000,000 &
@ oA MED SEEH A3-1-5 JIEF QALY EY
—MEPAY AR YRS £2 30,000,0008 30,000,000 &
8ll: 110,000,000 #
1240 JIEIRHATKIE 54,638 54,638 -
1242 - - -
ANSBE2NE
8ll: - =
1243 - - -
Sl [N
8l -
1249 54,638 54,638 -
JIEFRHRI & ® W2EX 1,000 1,000 #
W S2H (SHS=33/ E3-2-1 DAY SH=X
—2IXE S| PY BB FHSH 54,637,000 54,637,000
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ot = 202431 AT | 20243 AT = 7 ron
3XIET Ol A | 2= Ol At SoBsS AE2H 2o
o g = (A) (8) G
8HI: 54,638,000 %
1250 A2 B =)|2X 2 = = =
1252 - - -
F2EEAI 2HEY
8HI: - 4
1253 - - -
A2LEAZI|2HY
BHI: -9
1254 - - -
AP EXE|2
BHAI: - 9
1255 - - -
aEESHeX)| 2HY
BHI: - 9
1260 20| ==& 9,004,259 10,147,921 A 1,143,662
1262 149,974 150,600 ~626
olojoi )| 2 & 2l ® 2oin)|2
—0| &} 97,500,000 97,500,000 &
—SZHOIHE 2 53,100,000 53,100,000 &
@ N2X HSHIS=E23H JI222(HS=22) L2
—0| 20Xt 24 -626,000¢ -626,000
BHI: 149,974,000 &
1263 2,570,139 3,318,372 A748,233
oo A= 2HE ® LoA=I|2
—0| X 570,000,000 570,000,000 &
— S ZOIHE 2% 316,300,000 316,300,000 &
—A=22 9| 29+42H] 9,000,000,000 9,000,000,000 &
@ H2H HesHISEE25H JI222(HIS=E2) 22
—0 20| Xt 45,800,000 45,800,000 &
— 2 0lAl 6,000,000 6,000,000 &

—A=2Ita2dl -6,514,728,000&

m HRH HSHISS23H JI22elHSE3) 29

—0l=0I &+ It 100.000,000&

-6,514,728,000

100,000,000

el

=
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= 202431 H AT | 202431 AAT = 7 ron
BRIEY OIAY | 2%k ol At oy ME2H 39
o g = (A) (8) el
—212 2 JHA2tH] -205,000,0002 ~205,000,000 2
® H2X HstHIS=23H D2 B2l(HISER) 29
—0I 20/ X 24 -89,574,0002 89,574,000 &
—2A2 AT 2Y| -658,659,000% 658,659,000 2
82:  2,570,139,000 #
1264 326,700 326,700 -
o|zs)| 3 Y ® Yo|ms|Z
—0I Xt 6,100,000 6,100,000 &
—HZHOINIEZ U 600,000 600,000 &
® 2oIFatI|3 Xe 320,000,000 J|£42l, 0Kt 320,000,000 &
BI: 326,700,000 %
1265 - - -
ol g X IIBH Y
BHA: - 9
1266 5,957,446 6,352,249 394,803
Yo|SHSHIIZHY ® YOASHSHI|Z(=X)
—0I X+ 107,000,000} 107,000,000 &
— S ZHOINI B 350,000 350,000 &
® YoISTHSNI|B(UBtAENS)
—0I Xt 67,500,000 67,500,000 2
—SZHOINESU 12,600,000 12,600,000 2
YolSHSHI|IZHY 3t REINE 321,004,000 321,004,000 &
® YolSHENI Z(RSAT e}
—0I &t 15,000,000 15,000,000 &
—SZEOIHIE S 232,000,000 232,000,000 &
—H3tHI S =230 M2 3 2,360,068,0002 2,360,068,000 2
® BN WL HIIBSLSIH AZ-1-1 L&D 100,947,000 &
& WeH HetyS=232 JI22e(HIS=S3) 22
—0I 201Xt 18,500,000 18,500,000 &
—H3tHI S =230 M2 3 2,813,046,0002 2,813,046,000 &
W HRH St S=23H JI2nel(HIS=2) 2o
—0 20/ X 24 -385,000,0002 ~35,000,000 &

m H2PH HSHISSE3SIH JIS2elHSES) 29
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ot = 20243 9T | 202431 H S = 7 ron
BXIEZ Gl ALH | 2RI O AboH Soss AE2H 29
o g = (A) (8) G
—0I 20/ Xt 24 -48,000,0008 ~48,000,000 2
WX EtHISE232 JI222HISE2) 29|
—0 201X ZJ} 45,000,000 45,000,000 &
—HEHHIS2 235 M2 2 342,234,000 342,234,000
@ =X OIEHIS=235H JI222I(HISE2) 22
—0| 20/ & 24 -687,000¢ -687,000 &
—HEHHIS =2 2353 =XJI2 =22 2,000,000,000% 2,000,000,000 &
@ I2X OISHISE23H JI222I(HISER) 22|
—0 201X 24 -112,0002 -112,000
@ [iQ &2 IStU NI 2EH 3| H A3-1-1 L&D 150,000,000 2
@ =X EHIS=23H JI222(HIS=E2) 22
—0 201X 24 -712,0002 ~712,000 &
—BHHIES 250 M2 -2,543,292,0002 -2,543,292,000 &
BHAI: 5,957,446,000 &
1300 D& XA XIS 17,351,416 21,409,889 ~4.058,473
1310 SEDH XA X & 17,351,416 21,409,889 A4,058,473
1311 9,054,779 13,001,001 3,946,200
EX 0| ® B==3 1,0002 1,000
Z2F SHISE25H 2SARULHZ EX0
—NSUNA DK2I|STHA 2= EXHY(H2H N 13,000,000,000 2
—EX 2T 23 SIIHIZ 1,000,000 1,000,000 &
@ =21 (SHISE23H SSARLUHZ EX0
—NSUNA D22 25 EX0HY &0 04 -3,946,222,000 &
BHI: 9,054,779,000 &
1312 1 1 -
Hep eyl ® B==3 1,0002 1,000
BHI: 1,000 &
1313 1 1 -
=S ® V=3 1,0002 1,000 &
BHI: 1,000 &
1314 4,444,199 0,470,248 1,973,951
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= 20243 HAC | 20243 A S = roron
3XIZA GAY | 2XEEH Ofl Ao sS85 A= 2o
o & = (A) (B) G
B BIENEE] © UarS AN AAIY NS PEZ Al

—CHBHE ALK AN D1 DI REHE DI EFR S 200,000,0 200,000,000 &

© DHarS AT A A B A S| KT e 22|

—CHBHE ALK AN D1 DI REHE DI EFR S 778,000,0 778,000,000 &

© Ns BAE MY DS TE ML)

—XIEHCHE A3 ALY DI HIDI REEIIEFRE 200,00 200,000,000 &

® IS EAIXIRAIY ABASII P2

—THBE AR AR D1 H DI ROHE 19,500,000 19,500,000 &

© AT (HA01a2)

— DIAHIE S8 QA AIAE JIHI| R QY| 174,8 174,899,000 &

@ EHS A ERC SAAIY WSS I 300,000,000 &

@ BB AEXIC SAAY ASAS) RS -555,029,000 &

@ IBHE AIERICH S AAI (39E) ABASI| XN 500,000,000 2

@ IBHEAIERICH SAAIY(39E) NSRS B NN 100,000,000 2

@ BB AERC SHAAY ASASI RS 280,500,000 &

@ AT HEHISE23H AL 22 M (HA o4

—ZIHIZEHEE HEUS HAE —174,899,0008 ~174,899,000 &

W CHEHS ARG S AAIY NSRS IIH ~403,200,000 &

W CHEHS AIREICH S AAIY NSRS IIH 413,700,000 &

W IS S ARG HAAY ABASII IR SY 103,229,000 ¥

W IS S ARG HAAY ABASII IR SY 604,808,000 2

W CHEHS ARG S AAIY NSRS IIH 120,000,000 ¥

W IS S ARG HAAY ABASII GRS Y ~241,800,000 &

W IS S ARG HAAY ABASII GRS Y 50,540,000

@ (IS AIZXICHSHAIAY DKADEHINAH I|H 149,500,000 2

@ [ISI3AIZTICH HAIAY ABASIIHRASY 47,023,000 &

@ LIS AIZXICHHAIAIY(3DE) ABASIIRHHT 1,104,098,000

@ LIS S AIEXICHSHAIAIR(3DE) NSRS NE 486,000,000 2

@ (IS AIZXICH HAIAY DKADEHINAH| I|H ~11,650,000 &

@ (SIS AIZRICH HAIAIY ABASIIHRASY 198,980,000 &
BHI: 4,444,199,000 &

1315 219,237 578,737 359,500
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ot = 20243 9T | 202431 H S = 7 ron
- — BXIEZ Gl ALH | 2RI O AboH g Az2 2 o
o g = (A) (8)
1319 3,633,199 5,359,901 ~1,726,702
j—l/\—i CL| /¢|-
A3l 222 50,000,0002 50,000,000 €
Y SEEI PN EH IISA BFE 235 2 88,00( 88,000,000
® F=2=7 1,000 &
& AL EH |IS=25|H Al&BRIAI(H S
—OHAI S “407-48] BE X HLHI A 9,800,0( 9,800,000 &
—EsA F=XE LR L2 300,000,000 300,000,000 &
ma 6zu+x| 9l 3K MLHY OIHEE2 25 100,000 &
@ CIEHa! Al= ZICF 81 Al ALY b 214 300,000,000 2
W AILZRIH HEHISS23|H Al-1-2 2182 24T
—H=p| AL = gg&(%ao@) AEDA 3 3,500,000,000 2
Is=23 (HIS
Al BXE 23 22 -88.00 ~88,000,000 &
HAAIY DSMAREANMY HE 162,224,000 2
5 AIANS WSO Ml AL 1,087,776,000 &
IS=235|H Al-1-2 2812 AT
A S OASE AEDA-1,627,494,(  —1,627,494,000
Y ERIBIEN s o529 88,000,000 &
— B RIS A s a5 | 50,000,000 2
° /\I*”FEIJH EH%’ IS=23H A o (HISE
A8l 222 -50,000,0002 ~50,000,000 &
— ONE 407 4 6T X JHet ~800,00 -800,000 &
— %c»um X IHE JHeHEEa ~176,000,0002 -176,000,000 &
P HAIAIY DRDS A AL ~10,408,000 &
BHI: 3,633,199,000 &
2200 D& SHA S 2,290,000 2,210,000 80,000
2210 M| MU= A8 - - -
0001 - - -
. Ip =
BHI: -2
2220 JIEt D& S 2,290,000 2.210,000 80,000
0221 2,290,000 2,210,000 80,000
ApEsE2sz 22 Bt 50,000,000 50,000,000 &
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o = 202431 01E | 20243 HSE = A oron
3XFZ Ol &Y | 2XtF=Z Ofl AtoH Al SEZA = Y9
o g = (A) (8) el
© Heted SUHES= &= 1,680,000,000& 1,680,000,000 &
& SOH (HSUYSHSH HAHSLLB2| ALY
—tsted %!EHE%% &= 30,000,000 30,000,000 &
W ELH HSIUL S WAHS Ay
—gUHES=&= 450,000,000 450,000,000 &
@ S UWSIEESEH AAliste g 22| SUs
—gHEs= 30,000,000% 30,000,000 &
@ B ) o =y
—ME DAY 2l O'EHUf;% srer s ,000% 50,000,000 &
Al 2,290,000,000 &
2229 - - -
Bt DEF IS
B : - 9
I = X g g A 83,882,090 88,818,970 24,936,880
EXII0IEX= - = —
1100 V| &= S A&t - - -
1110 - - -
=mSA=
Bl - @
1120 - - -
et S At
BHH: - =
2100 /¢ === - - -
2120 - - -
Ol===2
2[R - ®
2130 - - -
sz
Bl - @
2140 - - _
IEt=S=2
Bl - #
=X g & A 83,882,090 88,818,970 24,936,880
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